Misleading Graphs I MEL4E

o Example 1) Consider the following two graphs:
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a) Which of the two graphs is misleading? b) Why might someone want to use the

misleading graph?
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Example 2) Average houses prices went up $10,250 in one year. This is graphed below.
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a) Which of the following graphs displays the data without misleading? TLL Sawm& 3 Cap b A

a b) What is it about the construction of the graph that makes it misleading? _ﬂ\ h \,Q
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¢) What is the percent increase from 2002 to 2003? In other words, what percent of the 2000 price
(200,0009) is the increase (10,2505)?
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d) The percent increase in part c) is significant, even more so if House Prices

earnings and other prices have not increased as much. Why is 212 000
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Summary: There are two major ways that graphs can be made misleading..
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In the following practice, keep in mind the two ways that graphs can be made misleading: By changing
the scale of the graph, or by changing the colour, size, or style of the graph. We will discuss these

solutions before you go today. »
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1) a) How is the graph misleading?
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b) Who might use the graph and why? botrtl, ) . ¢S
¢) What changes would make the graph more accurate and ¥

less misleading? N L Las A \
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2) . A company shows the graph below to its shareholders and customers.
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a) Which quarter had the greatest increase in sales over the a\ A =3 ‘A U&'Lu‘f \
previous quarter? :

b) Describe the sales during the second year compared to those \3\ (\ en aw| \6 o U )\ o
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in the first year.

<) What makes this graph misleading? LA LA, TN
d) How could the graph be changed to present the data
more accurately? 0\/\/ S
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3) Display the data in the spreadsheet on the next page in a graph zﬁ Lokt Pt fbssa i
each of the following ways. Explain each graph. 24 AD CO Directors Expense
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Mr. Smith has given you a scale to help you get started.
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